Python Week 4

e Review hw3

=S
. —
H

SRS R P B Y T A A

— /home/teachers/fortran_ta/data/PSC2020/hw3/

* Q&A; practice
— Numpy mask out

— Numpy argmax, amax...etc

* HW4



Numerical integration using forward Euler method

(if the time interval is kept constant all the time...)
X A
Exact dx | X1 — Xp X1 — Xp
Solution . (at time=t0) — —-—=
Numerical dt th — Lo dt
Solution
dx
X1 =Xo+ 7| (attime=to) X dt
dt
(with x1, we can proceed to next step...)
t dx
Xy =X+ 4z | (attime=t1) X dt
dx _a small interval of x (around time= ) (...and next step...)
dt a small interval of t (around tim )

dx

(example in hw3b) Xiy1 = Xj + qr| (attime=ti) X dt

dx
E(t) =v(t) =t?>+cos(t) +1,xy =3



FAQ: Maskout

 Any Question?



. [ESIHYmask outzE)E

« ~/work/maskout.py
x = O~pi ZF7}10fElm%,

y=sin (x) *cos (x)

g PR EER plt.plot(x,y,’b-)

(1) FHoljiZ plt.plot( x[abs(y)<0.3], y[abs(y)<0.3], ‘ro’

* abs(y)<0.375-2H = Boolean array > y[abs(y)<0.3]:Z2Boolean array
=1 yPES T ZR

(2) fBRMAFEAUEK [ ( abs(y)<0.3) * (x < 1.5)]
« ¥fFi{EBoolean arrayffixic % (andH. ) HVER » {HH *

(3) PRI [ (y < -0.4) + (y>0.1) ]
« HWA{[EBoolean arrayfiiliite (orsk) HYEE - [HH +



FAQ: Numpy Argmax, Argmin

 Ql: fEnumpy

[yargmax (argmin)f5< > ARSI AAE (S ME )Y

B HIRAERIE DL ERYTER - 150 HEl B iindexiz/ N E -
R E R AKEN E > BN ERAIES 7

A = np.array(

1,2,3,1])

indminA = np.argmin(A) € smallest index of where minimum of A occur

BIE=KTA=

« AL SERHIEA//ME + F (A==..).nonzero()k B A N E MY

minA = np.amin(A)
all_indminA = (A==minA).nonzero()

all_indminA[:] < indices of where minimum of A occur



FAQ: Numpy Argmax, Argmin

o Q2: WE—{Elist[EHF & F F R FEE > FargmaxZ 52|78 h

F—EFEPEFREE(AZ, a~2) YT EE ° argminE 155
NEUERTENE WA

B=1[1,2,'4",'apple','z00']

C,D =np.argmax(B) , np.argmin(B)

print(C,D)

>>>4 0

{H FHamaxAlaminAl & & [OlFHEER S, o Ry n] DUA e i B A
AEEURTTTZRNATE 7

*  A2:amax, aminzg$ " EUE HAEr - AN EARF R

g 5 72 Fargmaxtk Az B fiindex » #iHEZ I BV TTER
Ind = np.argmax(B)

print(B[Ind])
>>>'700’



GOT(2) : B M - B -

~/work/max.py

x = 0~pi F/rH10{ElmAs ——

y=sin (x) *cos (x)
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